Hl = 0O & AFSE S Ml A
2024 3% 204 LBH5[H SHEES
SA: BASSD
M (ol (/83 E5U)
crel: @A (chol: M=)
SA - EHH . E(BH) - HRAY - BES Ol &k e HIDS2
R 36,321,550 36,675,575 354,025
2 4,262,500
fas 693,600
p] 157,076
= 4,357,433
Al 26,383,041
= 467,900
NEE R R D) 1,570,717 4,734,950 N3, 164,233
2 90,000
& 404,890
Al 607,927
= 467,900
REEEE 729,370 3,843,630 3,114,260
& 350,000
Al 379.370
EEATAIXY 12,650 21,510 8,860
201 22| 4,300 3,160 1,140
01 AtR2t21H| 4,300 3,160 1,140
OOIHICI12AIRIS| 30| Easst
100, 0002 *12%+23] 2,400
OSABHNSIRS| 30| FHasct
100,000&*7H 23| 1,400
OS2 22X 2L
500,000 14! 500
206 MZH| 1,350 1,350 0
01 MH=H 1,350 1,350 0
OMEIZSl 2| 22 L SRAE 1o 1,350
—AEH 2 AT 15,0002 *507H 750
—Sgtdlg 10,0004 %60 600
401 AlEHIZ 20HY] 7,000 7.000
01 Al&H] 7,000 7.000 0
OONES E54 SXBL(0INS, FHan)
2,000,000 2% 14! 2,000
OSAF U M2 22
5,000,000 % 14! 5,000
NEEEN 16,720 10,120 6.600
201 YPr2y| 5,000 0 5,000
03 #HAL2ZH| 5,000 0 5,000
OLELHSEE SHA 5,000,000 %13 5,000
301 Let8da 2,720 2,720 0
11 SHARHIXIRZ 2,720 2,720 0
OStMEIEEHEAL 50,000 %2024 +235| 2,000
OXIZOI M1 AL &4 XHO1H
90,0002 *424*23 720




2N S3ESY
NI IS EH(SE/PE5U
chelr Zergate] (Crol: X 21)
A - B O9|(30) - HRAKY - BaS Ol &k e HI M2t
307 2I2H0I A 9,000 7,400 1,600
02 QIFAAAIIE R 9,000 7,400 1,600
OstAcHyl 2 J2leld, Al FAS(BXS 90%)
6,000,000 * 14190/ 100 5,400
O0{2I0| BHHESAA HollE 2 A3
BHON(EES 80%)
4,500,000 *141%80/100 3,600
(S)ABAIS2! THIMEY & RAAI (HEAL) 700,000 2,600,000 1,900,000
[ 350,000
Al 350,000
401 AlEHI 22 0HH 700,000 2,600,000 1,900,000
[ 350,000
Al 350,000
01 Al&H] 700,000 2,552,160 1,852,160
OAAIZ2 TIHMEY & TAAY
700,000, 0002 x 14! 700,000
[ 350,000
Al 350,000
OHMEAIZ B35 841,347 891,320 A49,973
= 90,000
[ 54,890
Al 228,557
= 467,900
OrisAlE 22 100,480 101,020 540
201 LB 31,480 31,420 60
01 AF222IHI 20,500 20,500 0
ORMNOMMESS =2 201 HA| M
1,0002%2, 000 2,000
OOMMSS 2ct B2l {2 2 otAs 2
100,000 %52 500
OOHHZAIZ HM2I(ASF, JtAlE S) Rl Xt
600,000 %30L! 18,000
02 2229 10,980 10,920 60
OSTHOMSS TR 282
320,0002430H 9,600
OOMMESESHIEH M9
85,0002 * 122 1,020
OOHHSIGHX| T2 SAl L HIQS
15,0002 x2CH+ 122 360
206 M=l 1,000 1,000
01 XH2H] 1,000 1,000 0
OOMESE T3 L 9o 24 22 ¢ 1,000
-0z HY S 1,50024%100H 150
—443 5,000*50% 250
—a=K 12,0002 *50H 600




SN 3250
I A2 (/g2 sdht)
ol OdSAE 23 CEREERD
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
307 2I2+0| ™ 5,600 5,600
02 I B AEE X 5,600 5,600
OOMEE 7XEE KA (EXE 80%)
7,000,000 %141x80/100 5,600
402 212tXH=01H 62,400 63,000 2600
01 BIZ A= ARG B (KFHITHA) 62,400 63,000 2600
OstorisE TISHHZAIE X X (EXE 60%)
4,000,000 %264 A+60/ 100 62,400
(2o SSTIGHoIE At 120,000 170,000 50,000
= 60,000
= 18,000
Al 42,000
402 212tXH=01H 120,000 170,000 50,000
= 60,000
= 18,000
Al 42,000
02 BIZAHE ARG 2 (01X THS) 120,000 170,000 /50,000
OOt SETIGHHIL AL
120,000,000 * 14| 120,000
= 60,000
& 18,000
Al 42,000
(Z)OMSAIZEES 190,867 190,300 567
= 21,890
Al 51,077
= 117,900
101 Q1244 20,000 20,000 0
= 6,000
Al 14,000
04 JIZtH2 2 AS2E= 20,000 20,000 0
OOrHMEESZAIY A
10,000,000 +2& 20,000
& 6,000
Al 14,000
201 Let23| 46,700 43,800 2,900
S 8,640
Al 20,160
= 17,900
01 At22tel] 38,400 35,500 2,900
O=olOFESS Z2ALMIXICIHI
37,900,000 14 37,900
& 6,000
Al 14,000

4

17,900




SN 3250
HE: NOISRBH (Y /BASSA)
ol OdSAE 23 CEREERD
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
O0d=E PxeE 7Y
500,000& * 14 500
< 150
Al 350
02 S5=4H| 8,300 8,300 0
OSHoES T RRIAIAE 2
6,500,000 14 6,500
= 1,950
Al 4,550
OsHoMssTasHTE2
1,800, 00021 %1 4! 1,800
& 540
Al 1,260
206 = Hl 500 500 0
= 150
Al 350
01 MZH 500 500 0
OO0fME=Z %0l 500,000 %14l 500
< 150
Al 350
301 LetE2d= 116,667 116,000 667
& 5,000
Al 11,667
= 100,000
14 J|Et2 = 116,667 116,000 667
OSHoMESTTAS
116,667,000 14! 116,667
& 5,000
Al 11,667
= 100,000
302 OI=H Mol 2al= 7,000 10,000 23,000
& 2,100
Al 4,900
02 DRI L E P EE 2 AS 7,000 10,000 A3,000
OOIMESTIHsXS A
7,000,000 14 7,000
= 2,100
Al 4,900
(D)MECILEETAY 195,000 195,000 0
& 6,000
Al 14,000
= 175,000
401 AIZHIZ 20| 195,000 195,000 0
= 6,000




2AM:
X{XH -
o /e

cH):

A T SI(BH) - HIRARY - BAS

PIE]=>
e

44

14,000
175,000

01 Al&H]
OMERH W BtOFH A S (DHAIEH) MIH A
195,000,000 *14]

= M

4

195,000

195,000
6,000
14,000
175,000

195,000

Mo

=

m

195,000
10,000
3,000
7,000
175,000

195,000

401 AlEHIZLSOHY]

hoH

=

44

195,000
10,000
3,000
7,000
175,000

195,000

01 AlZHI

OMEHA wetH S (IFAIZH) RIHAN
195,000,000 *14]

Mo

=

m

195,000

195,000
10,000
3,000
7,000
175,000

195,000

(2)ASF THS SSiXl AISTHH & HARIX

hoH

=

40,000
20,000

6,000
14,000

40,000

101 21244

hoH

40,000
20,000

6,000
14,000

40,000

04 JIZtH22 XS E=
OOrlEZ AtHIXeEl, AIZM=F

= o|=o0l
oS T o

40,000, 0003 * 14!

hoH

=

40,000

40,000
20,000

6,000
14,000

40,000

olzel (/o)

4 W

S

H

8,060,562
3,311,300
693,600
118,076
1,192,193

12,224,212

24,163,650




2A: SEES
HE: Oo|ea2l(&d/U01)

chelr )] 3y (Ctol: ®M2l)
SN B SL(3) - MBAY - BaS Ofl b e MimE=T!
Al 2,745,393
PIEEESS 8,027,898 12,191,548 4,163,650
= 3,311,300
z 693,600
p) 118,076
[ 1,192,193
Al 2,712,729
g2z zel 289,224 186,248 102,976
201 L2 A 219,274 185,998 33,276
01 AFRZH2IHI 60,300 62,880 A2,580
OXSXHISIIA Sl T|=d| 1,250
—&gs 150, 00025 750
— ot st 100,000 x5 500
OZXE 2 DIMBSIX M2 2 8 K02 M
50,0002 %2074 A*103] 10,000
OSAXNE L DINHA M2 2 282 80 HIE]
50,0004 *207H A 100H 10,000
O], $EE QAEF ADE ¢ 1,350
—Ot3| AlZ2 ZAB J0
30,00024+307H 900
—EA AEME 2 2
3,0002%150 K 450
OZIIHA BaZ AE 48
15,3002 % 1,000CH 15,300
ODIMSXI THY| Atzx 2384
15,000, 00024+ 1CH 15,000
Ostst2x otM2R|RIRs] 23 aalag
100,000 %1223 2,400
OIIRSESE e 2
2,500,000 x20H A#13] 5,000
02 2229 158,974 123,118 35,856
OUIIAZIF 2HEFR) S|
1,5702%150 £ * 122 2,826
OUIIANEIHF 12 22 S
500,000 %1CH 500
OASEH)| S22l 200
—HTAA 222 100,00024*1CH 100
—=2| 2 AREY| 100,0002%15 100
OO0IMIgIX 2IIE=FI|(loT) 2EQ2
2,300,000 x 12 27,600
OZHIY XNETEHAZ BE3rc
20,0002 %122 240
ODIMIHXI QtaIR2E S
170,000 % 12 2,040
ODIMEXl ASE KXY
35,0002 +6IH A+ 122 2,520




2A:

SHZES

HEM: |22 (EF/THDI)
S O] sEXH (cHol: M)
SH - EHH . O(3) - NRAIY - B Ofl st e RS2
OWIIRSANSZSHY AIEEH | 79,278
— A& EHIRXIZ2
23,500,000 %24 A 47,000
—28= 35,0002 *20H A * 122 840
—Stles 280, 00024 +2I4 Ax 122 6,720
&2z 200,000 *2JH A* 122 4,800
—EHCHA 422 7,800,000 % 14! 7,800
—AN&EH A2EH
6,059,000 *20H A 12,118
OS8HIE THEAIAEI(IH2H 2222 23,200
-2 E524 500, 0002 *4 I 24 8,000
— A& EHIRXIZ2 500, 0002 %44 2,000
—Sties 250,000 x4 Ax 122 12,000
—&JIes 25,0002 x4 01 A+ 128 1,200
OASEF)| RHDUHY X2l
20,570,000 x 14! 20,570
206 XHEH] 9,700 0 9,700
01 XH2H] 9,700 9,700
OA2s8udI| 2 2,000,000 %14 2,000
O&lsH =& 7,700,000 14! 7,700
207 SN 60,000 0 60,000
01 A 60,000 60,000
OSAIJIA HIESANUA e & 40,000
—24IA HIER Y 29
20,000,000 * 14! 20,000
—280A HHERA 2B 24
20,000,000 * 14! 20,000
O31et22! otmate| Algd BN 20,000
—SIEI2W oIMTIR| Al BIA 29
19,000, 0004 14! 19,000
—3IEI2E orNaR| AS 2EA AL 2
1,000,000 * 14! 1,000
301 YEHEAS 250 250
14 JIEI2AS 250 250 0
O3 aln Loz 50,0002 %524 250
(2)EATZOIEN IHAIIR QIMEIE XIS 70,000 50,000 20,000
7l 35,000
[ 10,500
Al 24,500
301 YEHEAS 70,000 50,000 20,000
7l 35,000
[ 10,500
Al 24,500
14 J|EI2 A3 70,000 50,000 20,000




2AM:
S D]
S o] 83X

S - EHH - SR(E) - HRAIR - B ofl e e imE=T
OEAIOIER 2% 70,000,000 * 14! 70,000
p) 35,000
[ 10,500
Al 24,500
(2)NEX BAZOIER 29 24,000 20,000 4,000
p) 12,000
[ 3,600
Al 8,400
301 LBtEE3 24,000 20,000 4,000
p) 12,000
[ 3,600
Al 8,400
14 J|EtE A2 24,000 20,000 4,000
ONEXEAZIEH 2
24,000,000 * 14! 24,000
p) 12,000
[ 3,600
Al 8,400
(2)2dI01E Helxd 1,357,200 1,388,000 30,800
z 678,600
[ 203,580
Al 475,020
402 QI2EXH201 M 1,357,200 1,388,000 A30,800
z 678,600
[ 203,580
Al 475,020
03 DIZHR{EFALIH] 1,357,200 1,388,000 30,800
OZYI0I1E HMelxg
1,357,200,00024%1 4! 1,357,200
z 678,600
[ 203,580
Al 475,020
ERENENE 150,000 150,000
402 QI2EXH20] M 150,000 150,000 0
03 DI2FR|EFALIH] 150,000 150,000
OZH0IE XMelX& 150,000,000 14! 150,000
(2)S TGRS0 78,974 79,200 N226
p) 71,076
[ 3,948
Al 3,950
301 LetEEa 78,974 79,200 A226
p) 71,076
[ 3,948




SN SESBSY
I DI (8HF/TDI)
el )] EFAH (cro): =2l
2A - HH - H(SH) - MRAIY - BES Ol Ak oK %Ei Hws2t
Al 3,950
01 AIBIBHE G2 (ZDEZR) 78,974 79,200 N226
OIS XIZ 78,974
— YA H 74,974,000 % 14! 74,974
7l 67,476
< 3,748
Al 3,750
—HUEHSE 4,000,0002%14] 4,000
7l 3,600
< 200
Al 200
(R)55S L RREIHIXKIR ALY 1,056,000 3,305,600 2,249,600
= 528,000
[ 158,400
Al 369,600
301 LEEAS 1,056,000 3,305,600 A\2,249,600
= 528,000
[ 158,400
Al 369,600
14 J|EI2 A2 1,056,000 3,305,600 A\2,249,600
OFSB-2H R EI|HIXHKIR ALY
1,600,000 *660CH 1,056,000
= 528,000
[ 158,400
Al 369,600
(2)4ES LSRRI HIXKIR ALY 814,000 1,200,000 386,000
= 407,000
[ 123,200
Al 283,800
301 LEEAS 814,000 1,200,000 386,000
= 407,000
< 123,200
Al 283,800
14 JIEt2 42 814,000 1,200,000 386,000
Q4SBT H S EI|HIXHKIR ALY
3,700,000 x220CH 814,000
= 407,000
< 123,200
Al 283,800
() =S AHEI|HEI | HIXHK ALY 37,300 373,000 335,700
= 18,650
< 5,595
Al 13,055




2A: SZES
M oleE&el(2a/0o1)
S OPD| #3xd (cHol: M)
A - HH . H2(3H) - HRAK = Of] &K %Ei Hws2
301 LBBAEZ 37,300 373,000 A335,700
= 18,650
& 5,595
Al 13,055
14 J|Et2 &= 37,300 373,000 335,700
OLFAHEINHZERIIHI XK ZAAIS
3,730,000 *10CH 37,300
= 18,650
& 5,595
Al 13,055
(Z)M2EXI(DPF) 2= 132,000 214,500 A82,500
= 66,000
& 20,000
Al 46,000
402 QIZHERHE01A 132,000 214,500 282,500
= 66,000
& 20,000
Al 46,000
02 2IZERFE AL (O &) 132,000 214,500 282,500
OXMZEXI(OPF) 22 3,300,000 +40CH 132,000
= 66,000
= 20,000
Al 46,000
(2)E 32X JsT HE N2A 15,000 0 15,000
= 7,500
= 2,250
Al 5,250
402 QI2EXHE01 A 15,000 0 15,000
= 7,500
= 2,250
Al 5,250
02 QIZENEAMLE X (0IX ) 15,000 0 15,000
O1E EXt 1S3 T KN2AAY
15,000,000 *1CH 15,000
= 7,500
= 2,250
Al 5,250
(=) AL AHAE WA 247,500 495,000 A247,500
= 148,500
= 29,700
Al 69,300
402 QI2EXHE01 A 247,500 495,000 A247,500
= 148,500




2A: SZES
M (el (&>d/UI)
el )] EFAH CEREERD
2A - HH - H(SH) - MRAIY - BES Of] &K %Ei Hws2t
< 29,700
Al 69,300
02 QI RHE A E X (01 ML) 247,500 495,000 N247,500
OALIHAXDH X/
16,500,000 *15CH 247,500
=2 148,500
(= 29,700
Al 69,300
(2)0BI0I SE XIEH PGRIA S K| & AFR 10,000 84,000 AT4,000
=2 5,000
(= 1,500
Al 3,500
402 BI2FXH=0| A 10,000 84,000 AT4,000
=2 5,000
[ 1,500
Al 3,500
02 QIZIXHEAIE 2 (01 ® T ) 10,000 84,000 AT74,000
OOIRI0 S&IR2S LPGXF T B X
5,000,000 %2CH 10,000
=2 5,000
[ 1,500
Al 3,500
(2)PIEHENSAZUESAY 24,000 72,000 48,000
=2 14,400
[ 2,880
Al 6,720
402 QI2ERF=0IA 24,000 72,000 48,000
=2 14,400
[ 2,880
Al 6,720
02 CIZHRFE A 2R (01 A THS) 24,000 72,000 48,000
OIEE MsASB2e! ui X
24,000,000 *14! 24,000
=2 14,400
(= 2,880
Al 6,720
(B)AADHNAEE SXIAIL X2 108,000 220,000 A112,000
=2 60,000
(= 14,400
Al 33,600
402 BI2FXH20| A 108,000 220,000 A112,000
=2 60,000
(= 14,400
Al 33,600




AN SHESH
A oIS 22(&3/001)
el )] EFAH CEREERD
2A - ZH - HA(S) - MRAIY - BES Ol &kt %‘Ei HwsZ
03 SIZHIErAISH 108,000 220,000 A112,000
OAT2 SHAEE SXAE EXXA
108,000,000 * 14! 108,000
= 60,000
[ 14,400
Al 33,600
(E)AA2SNAIL LT AL 2ERIZ 5,700 5,000 700
= 1,710
Al 3,990
402 212t XH201H 5,700 5,000 700
= 1,710
Al 3,990
03 BI2t? S ArHI 5,700 5,000 700
OATMZSHMAIEE LXAIE e 2SR
5,700,0002414] 5,700
= 1,710
Al 3,990
(S)0INISX SYHHE ol - ZA1 A 30,000 30,000 0
z 15,000
= 4,500
Al 10,500
101 2244 30,000 30,000 0
z 15,000
= 4,500
Al 10,500
04 JRHHZ2ZENEE = 30,000 30,000 0
ODIMSXISEHSUL=ZAl Q11|
15,000, 00022 30,000
z 15,000
= 4,500
Al 10,500
(Z)0IMIZX ASS SXIAE 10,000 30,000 220,000
[ 3,000
Al 7,000
401 AlZHIZL S CHY] 10,000 30,000 20,000
[ 3,000
Al 7,000
01 Al&H] 10,000 30,000 20,000
ODINIgIX ¢SS &X
10,000,000 * 17 2 10,000
= 3,000
Al 7,000
(2)HIIXSAH2ESEIILXIXZ A 2,000 15,000 213,000
[ 600




2AM:
T ZH -
o /e

cH):

HEE

2A - HH - H(SH) - MRAIY - BES Of] &K Ol Ak ol Hws2t
Al 1,400
402 SI2ERF=0IA 2,000 15,000 A13,000
[ 600
Al 1,400
02 QIZH XA E X (0| A THS) 2,000 15,000 A13,000
O NSAH2AESEI LRI AAIS
1,000, 00024 %2CH 2,000
(= 600
Al 1,400
(2)&IIXSXE RO 3,478,000 4,090,000 612,000
=2 2,010,000
(= 590,000
Al 878,000
402 BI2+XH=0| A 3,478,000 4,090,000 612,000
=2 2,010,000
[ 590,000
Al 878,000
02 QIZF X2 A E X (0| A THS) 3,478,000 4,090,000 AB612,000
OFIIXEXt F0f X
3,478,000,0002 * 14! 3,478,000
=2 2,010,000
[ 590,000
Al 878,000
(2)EI0I1EX ESAL 56,000 64,000 8,000
=2 28,000
[ 8,400
Al 19,600
402 QI2ER=0IA 56,000 64,000 8,000
=2 28,000
[ 8,400
Al 19,600
02 QIZH X2 AL E X (0| A THS) 56,000 64,000 8,000
OHJI0IZXt 0§ X
56,000,000 *14! 56,000
=2 28,000
[ 8,400
Al 19,600
(2)ESI RIS SKAI2E 1,500 0 1,500
= 750
(= 230
Al 520
402 BI2+XH=0| A 1,500 0 1,500
=2 750
(= 230




SN B2
I go|eae|(&d/tI1)
el )] EFAH CEREERD
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
Al 520
02 QIEXHE A S (01 &) 1,500 0 1,500
OS#IRUTSI 1A UL sR 2L
1,500,000 14! 1,500
= 750
= 230
Al 520
(2) AL B I (GHP) YLD EXI 2 A 31,500 0 31,500
= 17,500
= 4,200
Al 9,800
402 QIRHAH=20IH 31,500 0 31,500
= 17,500
= 4,200
Al 9,800
02 QIEXH= AN (01 & ) 31,500 0 31,500
OIAZ B I (GHP) Wt IR X R AHS
31,500,00024*14] 31,500
= 17,500
= 4,200
Al 9,800
N3 32,664 32,664 0
SANLRES DA 32,664 32,664 0
201 Ler2a| 32,664 32,664 0
01 AFR-2telH| 1,200 1,200 0
Os2MRea 22 40 U OHAR RIX
60,0002 *50 243 1,200
02 232l 31,464 31,464 0
OLNXIA o4 X 2HEL 23 30,000
—3I= 5002%10,0002423 10,000
—S5E 5002 *20,00024 23 20,000
OBZMERYS HAE 48
802 *15,0002 1,200
O2NLRLS XIZEDI(RSOIH E281) 242
22,0008ix 12 264
HY|S2ZE(3/HII2) 15,299,537 14,614,067 685,470
Il 39,000
= 70,260
Al 15,190,277
HDISIIBHAIE 2t 77,024 104,500 27,476
SEES SR 75,824 103,660 27,836
101 Q1244 5,050 4,926 124
04 JIZ M2 2SS 5,050 4,926 124
OANZHE HIEZRY QIRA 5,050




2N S3ESY
M HIISLSHEZ/HIIZ2)
CHel: HDISD|BAIE 22l (Crof: M2l
SN B SL(3) - MBAY - BaS Ofl b e MimE=T!
—Jlz= 78,8802 x2Hx 142 %23 4,418
= 78,8802 2 %22 +23)| 632
201 L2 A 51,774 78,634 A\26,860
01 AFRZH2IHI 47,574 74,434 A\26,860
OZJIoHe & 2el 25,512
—EE4H2IAE 22
1,000,0002* 174 A 1,000
—EELX2E 2| FM0IR2
176,0002 % 12 2,112
—EES4 A4 S2TAA
800,000 * 14 A*4= | 3,200
—XIot= ZAHE 500,000 %4 & x4 27| 8,000
— MK SEAA
800,000 1 Ax4=27| 3,200
—=H EAQAHT AA
1,500,000 1 A#42| 6,000
—2A ORRIDIA A
500,0002* 1§ A4 =] 2,000
ORAL OIXIS, &4 DHRIE 2t2(HI2IA) 21,512
—EE4He AL e
1,000, 00024174 2 1,000
—EE4H2IE 20| FlHoIRE
176,000 % 12 2,112
—EE4 /4 2EAA
800, 0002 *37H 2 2,400
— XISt HAIS 500,000 *5IH A 2,500
—=H EAQAHT AA
1,500,000 %30 A *2 A 9,000
—2A ORRIDIA A
500, 00024 *3IH A3 4,500
OHJI2 BE2A £42
55,0002 % 1074 A 550
02 2229 4,200 4,200 0
OAMNE B2 MYDIER &H)|1e2 3,840
—OHXIS 300,000 122 3,600
-3 10,0002 %12 120
—F4 10,0004+ 122 120
OZELHE Ao-ER2
30,0002 %122 360
401 AlEHI 2L 2 0HY 19,000 20,100 AT1,100
01 Al&H] 19,000 20,100 AT1,100
OEJ| AZ0HEE 254 Held FHEE
19,000,000 * 174 A 19,000
OHR & 2= FHI ALY 1,200 840 360
201 L2 S 1,200 840 360
01 AF222IHI 1,200 840 360




2N S3ESY
HE: HDISTH(EF/HIIS)
CHel: HDISD|BAIE 22l (Crof: M2l
2A - 3 - H2(SH) - MRAY - BAS Ol &K %E& Hns2
OJIS22490R3| &4 2
100, 0006223 1,200
Me0] Hel 15,013,293 14,373,837 639,456
7l 39,000
[ 70,260
Al 14,904,033
HEESETAIY 761,560 765,200 13,640
201 LB A 57,560 67,200 19,640
01 AF222IHI 50,960 51,360 2400
OXtzsog J|E U HE2ER s40 J=
60,0004 *500H 3,000
OL32E MU 222 AF
20021%10,0000H 2,000
ONEBEE 22z =82 M
2002%20, 0000K 4,000
OHEZE 2&H] 660,00024*63] 3,960
ONMEEE DNEAY 2H2E ¢
2,0002%18,000H 36,000
OSHE SHENH|EI} 2| &g
100, 00024+ 10H*23] 2,000
02 2229 6,600 15,840 9,240
OEYUHEHS|ISI| 22
110,000 %5CH+ 122 6,600
206 THEH] 50,000 50,000 0
01 XH2H] 50,000 50,000 0
OMSRE =2|218 7Y &X
250,00024+2007K 50,000
303 ZAZ2 3,000 3,000
01 Za=2 3,000 3,000
OSHS SZEHITIL AIAS 3,000
— %2z 1,000,000 %24 A 2,000
—&d 500, 0002 +2IH A 1,000
307 212+0|& 20,000 20,000 0
02 QIFAAAIRIE R 20,000 20,000
OAIBIONA ZOPH= oMy D] DA 2H(BX8
HoH) 20,000, 00084+ 14! 20,000
308 XIXISHHISOIA 531,000 531,000 0
14 J|EHRE3 531,000 531,000 0
CHDIZMEZRY =3 1521%35,400, 000kg 531,000
401 AlEHI L2 0HH 100,000 94,000 6,000
01 Al&H] 100,000 94,000 6,000
OSHES SHAFHIEIL AL 60,000
—%|R2 20,000,0002 %274 A 40,000
—&d 10,000, 0002 %274 A 20,000




2N S3ESY
M HIISLSHEZ/HIIZ2)
el M| Xel (CHR: X 2)
A - B O9|(30) - HRAKY - BaS Ol &k e HI M2t
OEYHEY 3|20 AXIA
20,000,000 *2CH 40,000
EEPIEEEPI==S 346,913 398,968 52,055
101 Q124 273,873 325,928 A52,055
M JIZH22ISES 273,873 325,928 52,055
0222 HERX 22X At
39, 4402123 * 1542 139,697
OMEMYD| HHEX S0 134,176
=2 78,880 21«92 x 1542 109,328
—=54 78,8802+ %282 19,878
= 78,8809 +7L 4,970
201 L2 A 28,640 28,640 0
01 AFRZH2IHI 26,120 26,120 0
OMYIIZ2EEII2E 222 M
5024%30, 00004 %23 3,000
OMYDIZHEII2E 2T HME
100,000 * 10074 A 10,000
OSHEI s Boj= Do
200,0002%5H 1,000
OMYDISHEII2E 840
60,0002 % 100% 6,000
OMSMYD| HHEX =20| 25 6,120
—zx= 100,000 *9%4 1} 900
—ot= 50,0002 «9% » 1K 450
— &3t 200,000 %92 *1JH 1,800
—<9 30,0004 *9% 174 270
=2 30,0002 %9 * 14 270
—OrNH (A ) 30,00024x92* 14 210
-3 5,000 24«9 *8 2 *3H 1,080
—22A4E0A3 1,0002 x9S +8 %151 1,080
02 2229 2,520 2,520 0
OMYDISHED| ch&bt SAQE
70,0002 %3CH* 12 2,520
301 YB3 400 400
14 J|EI2 A S 400 400
OMYDISYED| 4D ZAS
40,0002%1024 400
405 KHAHE SH 44,000 44,000 0
01 MU 2EFSY| 44,000 44,000 0
OMYDIZSHED| S8 01SAl It 7Y
5,500,000 *8CH 44,000
HAZH| e 246,222 209,680 36,542
201 LB 206,202 171,040 35,162
01 AF222IH 3,200 1,600 1,600




2A: SEESH
M HOISZ(EH/TDIS)
o2 A0l Hel (cHol: x2)
SA - EHH . E(BH) - HRAY - BES Ol &k e HIDS2
OHARA 22X s 2
200,000 8% 1,600
OBlgiRA 22K Zei= e
200,000 +8Y 1,600
02 S=2Z| 203,002 169,440 33,562
OF=E~yNIE =R IN]=] 203,002
—A207224( 2EHI0], Jt&Rl)
1, 7203 %4021 E{x 12 826
—BABPR(LEXL, BR)
1,570 %4002 | B = 12& 7,536
- B0 (EESTE, ER)
1,570 *2002|E{* 123 3,768
—BABEI( AR, BR)
1,570 %4002 |E = 12& 7,536
—7F720(SASMHDI=)1,ER)
1,570 %8002 |EH*12& 15,072
—7F7N(SASMYD|I=AH, ER)
1,570 *8002|E{+ 123 15,072
—06A4240( SAISMADIEH , ER)
1,570 *8002|EH*12& 15,072
- E0621(SASMHDI+=)1,ER)
1,570 *8002|E*12& 15,072
—9326405(SASM D401, ER)
1,570 *8002|E{+ 123 15,072
—8782833p(LE32, JISHEHA, ER)
1,570 x2002| B+ 12& 3,768
—54M7843(SWV, SH&BH ER)
1,570 *2002|E{* 123 3,768
— NPT EEESSZ, SIME, ER)
1,570 *2002|E{* 123 3,768
—8120976( = HEAIX}, ER)
1,570 %4002 | B = 12& 7,536
—84=2226( = HAE A}, ER)
1,570 *4002|E{+ 123 7,536
—&HAXE RAH L AREH S
400,000&+17CH* 123 81,600
206 =4I 40,020 38,640 1,380
01 =4I 40,020 38,640 1,380
OLHEAI Y &+ 18,960
—E524(HE) 320, 0002l * 122 7,680
—AHOIEE A (THE)
160,000 44 * 123 7,680
—BHM(EIAE)
300,000 x1JH* 123 3,600
Ogtdze|d &Agey 19,860
—MHEE SO
10,0003 *300H* 123 3,600




2N S3ESY
M HIISLSHEZ/HIIZ2)
Sl MYD| Hel (Crel: & 2l)
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
—JI2EAE OHH
40024%1,2000% 12 5,760
—gIxR 10,0002435H* 122 4,200
— Mg 10,000 *35%H * 12 4,200
—JIE} HAZ =T
5,0002x35% 128 2,100
OMIXH HIEX2IAIL UEE 7Y S
300,000 1 K42 1,200
MDIRE R (ME L SAS) 12,552,805 11,870,218 682,587
101 o124H] 90,398 69,649 20,749
04 JIZH22IEES 90,398 69,649 20,749
OSAZ2ZHIISSERI| NI 90,398
—Jlg= 78,8802x6% 1542 72,886
—=F=g 78,8802+ *302 14,199
—ARRSEIISY
78,8802 *6H*7L 3,313
201 L2 A 61,228 30,580 30,648
01 AFR22IHI 27,080 5,200 21,880
OSASERHIISSER)| MY 25 4,080
—zx= 100,000 %61} 600
—ot= 50,0002 «6% 17K 300
— =I5t 200, 0002 6%+ 14 1,200
—<2 30,0002 %62 1H 180
—=J) 30,0002 %62 *1H 180
—OIN D (H) 30,00021 62+ 14 180
-3 5,000 «6 % *82 *30H 720
—2AK0IAD 1,000 x6 282 * 1574 720
OSAI2RHIIS SUHERI| 7Y
46,0002 500K 23,000
02 222 34,148 25,380 8,768
O2est2A ®I|e2
7,000 %1220 A #1224 10,248
OFAXIE 2H AIAH AIRE
15,0002 %2501+ 122 4,500
OJtelA MEHD|2 Meta ®)|e3
1,200,00024* 122 14,400
OLZ3t=l 2RIGIRA 42|
200, 0002 %257 A 5,000
206 M=l 8,250 30,750 A22,500
01 XH2H] 8,250 30,750 A22,500
S L A 55,0002 % 150K 8,250
207 AP 46,000 35,000 11,000
01 gAY 46,000 35,000 11,000




FA: SEES1
A HOISL(EZ/HDIS)

E2l: MeD| Mel (Crel: & 2l)
SN B SL(3) - MBAY - BaS Ofl b e MimE=T!
ONETHDIE 2aebt DM & e 25
THONCHEY RIDPEAF 2
16,000, 000214l 16,000
OMEHIIS LT DI2HHE I} BH
10,000, 0002 14! 10,000
OMESNEHIIS HelHE +22
2,000,000 % 14! 2,000
OSAI22HIIS RUHE2IHI AINEA 2
10,000, 00021 4! 10,000
OSAIZMYD| E2IDI(RFID) BXIS2H| RAJLEAN
&3 3,000,0002* 14! 3,000
OSASZHIIS LM ANEI 2
5,000,000 % 14! 5,000
307 QI2F0IE 11,932,043 11,207,853 724,190
05 DI2FREr2 11,932,043 11,207,853 724,190
OSAZMYD| 28+ L Hel442 1,790,000
—e8r 35,0002/+6,000= 210,000
—xel 150,0002%6, 000 900,000
—gtes2|ma X2l
170,000 %4, 000= 680,000
Ogtew2|Ia Jteis MEHDIIS X2l
135,0002%24, 000 3,240,000
OMEMYD| L 2EZ SSA +T2 (32
5,918,043
—MEMY | £ESY (B
9,47621%51,370HICH* 12 5,841,386
—2C2 SSAF 20 2
76,657,000 %14 76,657
Ogfesellla Jteis MEHDIS el o3
41,00024%24,000= 984,000
308 XIXISHHISOI& 49,886 76,386 726,500
07 RXISHHIRISE 2 49,886 76,386 726,500
Ogtese|Ia ZXI2 AR 2e2
49,885, 12021 4] 49,886
401 AU 204 365,000 420,000 55,000
01 Al&H] 365,000 420,000 55,000
OZEIGIR2A (MEHDIIS HELHAIL) &X
15,000,000 154 & 225,000
OSASRHIIS Z21JI(RFID) HXIAI
2,000, 0002 %507 4 100,000
OJlois MEHDIS Matm 2K 22
40,000,0002 %1742 40,000
M| EEHEE 2el 516,813 479,501 37,312
201 YLEr=2 %] 174,813 124,901 49,912
01 At=2lt] 127,048 37,200 89,848

OZSENEEF & HEHDI=2 tiE 222 M

200&+*10,000% 2,000




SA: BHESD
I HOISAS(BE/HIIS)
Sl Meld| Xel CEREERD
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
OZSHEE CIHY ZHeIAIAE 34,000
—Z2ZR A 1,000,000 *42| 4,000
—SYNEE H=L42
100,000, 00024 %2, 5%+ 122 30,000
OUEHDIS tHEAIAE 7,000
—=g=All 1,000,000 x4 7| 4,000
—EHII8 =S
10,000,0002%2. 5%+ 122 3,000
OSAISRHIIS ZI1II(RFID) KA
17,0002 x412CH* 128 84,048
02 2224 47,765 87,701 39,936
OSAZRHII2 ZIDI(RFID) SKIea
4,20021%41201* 122 20,765
OSAERHIIE SIDI(RFID) AIIQS
5,000 %2500 A% 122 15,000
OSAIZRHIIZ Z2II(RFID) HZI| A
20,0002 *600CH 12,000
206 TH2H| 270,000 260,000 10,000
01 W24 270,000 260,000 10,000
OMADIZSHM HESE M 270,000
—MEMYD|2E HIF
602%4,000,000% 240,000
—sAl22 HlI2 25 M
602%470,000% 28,200
—3232 S5 & 60R1%30,000& 1,800
307 2I2+0|H 72,000 64,000 8,000
05 RIRIRIEIS 72,000 64,000 8,000
OMDIZZH TN 442
1,200,000, 00024 6% 72,000
(D) HESEFTENS XY 10,000 22,250 A12,250
[ 3,000
Al 7,000
301 YpHERZ 10,000 22,250 A12,250
[ 3,000
Al 7,000
14 J|EtE A2 10,000 22,250 A12,250
OMEEE +3242 X2
10,000,000 %14} 10,000
[ 3,000
Al 7,000
HE2ESXBAZXS 103,700 103,700
301 LpHEEZ 103,700 103,700 0
14 J|EtE A2 103,700 103,700 0
OB +AHBAS 103,700
—Hdg 120@1%700,000kg 84,000




S BRLSD
HE: HDISLSH(EY/HIIS)
etelr M| XMel (Crol: X 21)
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
S ETEEIEY 1502/%10,000kg 1,500
—sABIH(ECIAE) 8002 10,000kg 8,000
—=%=Xl 1,0002%7 ,200kg 7,200
—HX 5024%30,000kg 1,500
~Heeld 50220, 000kg 1,000
—HZEctAE 502/%10,000kg 500
(2)=ZHHE +HEA2 162,000 150,000 12,000
7| 30,000
[ 39,600
Al 92,400
301 YBHEXZ 162,000 150,000 12,000
7| 30,000
= 39,600
Al 92,400
14 J|EL2 A2 162,000 150,000 12,000
OsZHHY +HBAZ
162,000,000 * 14! 162,000
7| 30,000
= 39,600
Al 92,400
(2)2=TIX == 30,000 30,000 0
7| 9,000
= 6,300
Al 14,700
401 AlSHIZ 200 30,000 30,000 0
7| 9,000
= 6,300
Al 14,700
01 Al&H] 30,000 30,000 0
OY=HHIYZE6IREEX
5,000, 0002 *6JH A 30,000
7| 9,000
= 6,300
Al 14,700
ANLEHIIZ &2l 162,080 162,080 0
201 YBr2 | 7,080 7,080 0
01 Al 2r2] 7,080 7,080
Ozl - SHHIIS 28 49 M
60, 00021% 1974 A +23 2,280
Ozl - SHHIIS 28 22 HX
2,0002*1,00052%13] 2,000
OHJISHHESAIZE S22 M= U oHX3}
200,000 +3% 600




-

A BBESDH
I HDISLSH(EF/HIIS)
el Medl Hel (ctel: &
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
SEENEFPIEERIELEIESS
1,200,0002* 14! 1,200
OSYHIIZS AL £42
1,000,000 * 14! 1,000
307 212+0|& 155,000 155,000 0
05 DIRtQES 155,000 155,000 0
OB E fIgHa 300,000 *500E 150,000
Ozl - SEHHDIIS A2/
500,0002%10E 5,000
(D) HESE2CIHESALLRIAY 60,000 60,000 0
[ 18,000
Al 42,000
401 A& HIL S 0HY] 60,000 60,000 0
[ 18,000
Al 42,000
01 Al&H] 60,000 60,000 0
OMESZ22|HSAIL AR
15,000, 0002 %474 60,000
[ 18,000
Al 42,000
(C)HSARIIFEARSUNEI | XI A 11,200 2,240 8,960
[ 3,360
Al 7,840
402 DI2HXH20l ™ 11,200 2,240 8,960
[ 3,360
Al 7,840
02 BIZFRFE A E R (0| M THS) 11,200 2,240 8,960
OHsARIIRTRZ AR | XK A
800,000 %20CH*70/100 11,200
[ 3,360
Al 7.840
A=HII2 ZSEGHE ALY 50,000 0 50,000
401 AlEHI L2 0HH 50,000 0 50,000
01 Al&H] 50,000 50,000
OYsHIIZ SSEGHE HAAIY
50,000,000 * 14! 50,000
sADE 22| 209,220 135,730 73,490
AR AR 209,220 135,730 73,490
201 L2 A 168,460 90,216 78,244
01 AF2ZH2IHI 148,460 76,216 72,244
OSHBR|ARA 2I|E AY =55 =X
1,200,000 %23 2,400
OSH AR AR AN 22 7
5,0002 %35 * 122 2,100




2N S3ESY
M HIISLSHEZ/HIIZ2)
el StZaeld 2 CEREERD
SA - EHH . E(BH) - HRAY - BES Ol &k e HIDS2
OSIH2ACIAANRA LHAAL FHAIRE
176,000+ 1CHx 122 2,112
Osrzze|e 2E2el sldAEE
80,0002+ 1CH+ 12 960
OSH R RAIRA HIO ag]
20,0004 *2CH* 122 480
OSIZATIAARA F4I| S|
50,0002 *2CHx 122 1,200
OSIZACIAARA H0IE SAl Q3
12,0002 *20H* 122 283
O&gHsTIL 22 12 (13I1F), Helxol
A 370
-l 250,000 %11 Al 2+ 250
e 120,000 % 12 1AI 2 120
Ot 2Hall| (SHHIE )
3,0002%35Zx252Ux 128 31,500
Oty I=H S 107,050
-5 300, 0002 *3524*1 i 10,500
—ot= 150,00021%3524 1} 5,250
— =5} 150, 00024 %35 %24 10,500
— 50,0002 x35% * 174 1,750
— XN (Ot , LS, gH)
40,0009 +352 %34 4,200
—20otA (SAIZMYD| =HX)
20,0002 %102 1JH* 122 2,400
—&st 50,0002 x35% * 174 1,750
—gs2 50,0002 +35% * 174 1,750
—etet 150, 0002352174 5,250
—dstEd 50,0002 *35% 17K 1,750
—OINE (JI2HA HE, JI2FA Q| Lt
30,0002%352*1JH 1,050
& 50024 %35%H #2512 5,250
—0r&3 50021 %352 25 % 122 5,250
—2EESH 100, 0003521 x 122 42,000
—JIE} (2, KNALXICSHH, =AM )
20,00094%35%1Ji* 122 8,400
02 222 20,000 14,000 6,000
OSHRR|RAIRA 2 XX Al&2e
1,000, 0002 %274 A 2,000
OSIHATIAARA L HXAIE HIIQS
1,300,000+ 122 15,600
OSIHACIAARA AT R3
200,000 %12 2,400
301 Y2 XS 4,000 5,720 A1,720
11 BAFAIHIXI 22 4,000 5,720 A1,720




SA: BHESD
M HOISLS(SH/HIIS)
CHPl SR 2L (CHol: X 2)
S - ZE - BRIEH) - MIRAIR - B e e inE=gt
O-ZHEY 38 HAHSHHE )
100,000 x40 * 13 4,000
307 2I2+0|H 1,760 9,114 A7,354
0192 & 3=y 1,760 9,114 A7,354
OGISEE (SHHEL) 1,760
—=Z 35,00024%40H 1,400
—Rd4 FE< 9,000 *40% * 13| 360
401 AlEHIZL S 0HY| 30,000 24,000 6,000
01 Al&Y] 30,000 24,000 6,000
O Z2A2|AAR A AISHAIE &X
22,000,0002* 142 22,000
OB H A AANRA AS $4H|
8,000,00024% 14! 8,000
405 XHAHS SH 5,000 6,680 1,680
01 AU EEF SHI 5,000 6,680 1,680
O 2AAANRY 28|17 (LHY 2)
2,500,000 *2CH 5,000
Q- H 2l (BB/ 4ot - 2H) 5,415,331 774,255 4,641,076
= 861,200
[ 2,690,090
Al 1,864,041
ST 5,415,331 774,255 4,641,076
= 861,200
[ 2,690,090
Al 1,864,041
LEFEE 22 161,652 119,449 42,203
101 QI2AHI 32,264 3,171 93
04 IRIH22XSES 32,264 3,171 %3
OB=a A X2 32,264
—82= 78,8802 %2 * 123 19,405
—=gE 118,320 %2 *332 7,810
—F5 2 XN
78,8302x2%*32 5,049
201 L2 A 88,110 86,000 2,110
01 AF22teit| 13,050 16,500 A3,450
OHsIE HA o M HMZ
250@1%1,0000H 250
OBZs Al S HASE 7Y
60,0002 * 1504 2% 123] 10,800
OOIE0I2 BS3HE4A 22 2,000
—-S331F4 23 2212
1,0002%1,0009%15 1,000
—HLE ZEA HRE 7Y
50,0002 x20 04 2-*13] 1,000
02 2224 75,060 69,500 5,560




SN BHEE
M Q- [ P2(BF/AGHEE - 2E)
SR 22 (cHol: M)
SA - EHH . E(BH) - HRAY - BES Ol &k e HIDS2
S EERERIEEEEREIEIEES
370,000 * 122 4,440
OZE5I A RX 24
2,300,000 %2074 A 46,000
OZE5I A MI|R2
1,660,0002* 122 19,920
OZESIEA! ohplel E4l2
350,000 * 122 4,200
Ost=23t &AIE 5]H] 500, 000214l 500
307 eItol 1,278 1,278 0
05 DIRtSErZ 1,278 1,278
O2L4Z2 AR A4+ne2
100241, 065+ 122 1,278
401 AlEHIZ 20| 40,000 40,000
01 Al&H] 40,000 0 40,000
OZESI A Al 40,000
—NEH S DEIEA KGN
20,000, 00021 %24l 40,000
SEUSALA DY 56,899 74,306 A17,407
101 QI2AH| 34,235 33,402 833
04 JIIH2EXEES 34,235 33,402 833
OBI R ZAIR AFH 34,235
—J==2 78,8802%x22 180 28,397
—FFre 78,8802 x2%x302 4,733
—oIXRSEIY
78,8302 x2%+72 1,105
201 LBty 18,664 15,904 2,760
01 At22el| 10,000 10,000 0
OBZEAAID 25Hal 3
2,000,0002453] 10,000
02 2Z2%Y| 8,664 5,904 2,760
O =™RI K24
1,720+ 1,2002| € 2,064
OStF=FRI2 S22
400,000 * 122 4,800
OSF =X Sl
150,0002 % 1CH* 122 1,800
206 M2t 4,000 0 4,000
01 2| 4,000 4,000
orF LA P 4,000,000 %1 A! 4,000
(C)2ESHEADN ALY 60,000 220,000 A160,000
[ 18,000
Al 42,000
401 AlEHIL 20| 60,000 220,000 A160,000
[ 18,000




2AM:
T ZH -
o /e

cH):

HEE

2N - B GRI(31) - NIRAIY - BAS O st G HlmE2
A 42,000
01 Al 60,000 220,000 160,000
OBESHFAIN A 60,000
—GIUE AYRL2Y DEGIIA B
60,000,000 % 14! 60,000
= 18,000
Al 42,000
() MERSHE SRS (SHE) (R EA) 4,000,000 0 4,000,000
= 2,600,000
Al 1,400,000
201 AE20IL 0] 4,000,000 0 4,000,000
= 2,600,000
Al 1,400,000
01 Al 4,000,000 0 4,000,000
OMENGHE SR (SHA)
4,000,000, 00021 %1 4! 4,000,000
= 2,600,000
Al 1,400,000
TES A 08 orE(TEE) &K 19,800 12,500 7,300
201 YBr2gH| 19,800 0 19,800
01 AL 22l 19,800 0 19,800
OBESTA 014 oHaH(ULS) A
660, 0002 *307H A 19,800
EREEEEVENE 1,041,300 260,000 781,300
= 801,000
= 72,090
Al 168,210
403 REXI RIS K0/ & 1,041,300 260,000 781,300
= 801,000
= 72,090
Al 168,210
02 202 SICHERI=E SIS AL 1,041,300 260,000 781,300
OHIEER KA
1,041,300, 0002 *1 4! 1,041,300
= 801,000
= 72,090
Al 168,210
(2)3t=57 47| HaiA 75,680 83,000 A12,320
= 60,200
Al 15,480
101 Q1214] 75,680 83,000 A12,320
= 60,200
Al 15,480
04 D22 RIS+ 75,680 83,000 A12,320




2N S3ESY
HM: Q- H 2A2|(BP/MEIEE - +F)
SR 22 (cHol: M)
SA - EHH . E(BH) - HRAY - BES Ol &k e HIDS2
OBtMYD|EHR2E 18
75,6802% 102100 75,680
= 60,200
Al 15,480
HHMSAAH|(BFEES ) (DIEHIIE 2,201,500 2,223,073 A21,573
ol 2| 2,024,148 2,057,403 133,255
RIEEEET] 2,024,148 2,057,403 133,255
101 QI24H] 2,024,148 2,057,403 133,255
03 SRH(PIHA) 222 2,024,148 2,057,403 33,255
ORI oRA(135E JIFE) 2,024,148
—Jl=s 3,272,340 x36&H* 128 1,374,383
-2+
3,272, 3409 *75%+50%+35H*23| 85,89
—HESIH
3,272, 3402 *75%+B0%*352 x5 103,079
— Sy 50,0002 %352+ 122 21,000
— =S (X
40,0002 %35 * 128 16,800
—JIE=ZH(EM) 30,00024%20% * 122 7,200
—IESL(EM) 70,00021+20% * 122 16,800
—JtE=E(0IEH 20,0002 105 * 122 25,200
—A2222eY
18,0492 * 150%*5A| 21352+ 122 56,855
—5Y224L
18,0492 % 150020 Al 2+%35 24+ 122 227,418
—oIXR3SISE
18,04921+8A|2H 172U %35 85,914
—Aesd 100,000 %3 122 3,600
J|=23 177,352 165,670 11,682
J1=3| 177,352 165,670 11,682
201 L2 A 46,312 38,530 7,782
01 AFR22IHI 46,312 38,530 7,782
O=AEX +¢ 20,0002 %312t A 128 7,440
OS201Al| 8,000 *7Ax31H 122 20,832
Ogbte42 100,000 * 122 1,200
OAAZ TR 50,0002 x 122 600
OARL 24 12,520
—Z2ADI(HE) 42 1,000,000 %2CH 2,000
—I2IE g 100, 000 *6CH*50% 300
—=AD| EYH 200,000 %53 *2CH 2,000
—HORIE El{(E)
200,000 %53 +6H 6,000
—TRIE EH(ZH)
200,000 %53+ 1CH 1,000
—PC =l 100,000 *31CH*20% 620




SA BRSSD
M HHSAAH|(SH2SD)(IIEHIIEH
Sl =3 (Erol: ®el)
SN B SL(3) - MBAY - BaS Ofl b e MimE=T!
—J|Et ==2lbl 50,0002 *12& 600
OJIEF AR 221 10,00021+312i+ 122 3,720
202 04t 122,760 118,800 3,960
01 =LH0iH] 122,760 118,800 3,960
OB OIH 20.00021%31 2% 122U+ 12 89,280
O&204d| 120,000 %3124 +92! 33,480
203 QRETH] 7.080 7.140 60
IEREETE=ESS 7.080 7.140 60
OR ALY 2FAL| 590,000+ 128 7,080
204 NS AY| 1,200 1,200
NEEEEEEE 1,200 1,200
OXNBIASLHAY| (S HSSDE)
100,000 %12+ 12 1,200
HRE=(EYPSW) (B/AGEE - 2F) 3,773,903 2,105,018 1,668,885
FESIENE 3,773,903 2,104,818 1,669,085
TESENES 3,773,903 2,104,818 1,669,085
701 JIEISIHERES 3,239,080 1,557,960 1,681,120
01 JIEFRIHEES 3,239,080 1,557,960 1,681,120
OLEWESLE3|H HE2 3,239,080
—ZIGILHEIAE STH DE A
600, 0002 %387 4 22,800
—RAEM £H AA 242
200,00021%97H A 1,800
—ZIGISHIAIL SEBAL SH A
1,080,000 %387 A* 122 492,480
—2ZoIXCAE 2gae SHH(LR)
450,000,000+ 14! 450,000
—ZIBIAHRIAL HRIE Selaal|
25,000, 0002 %387 4 950,000
—ZIGISHIAIL BOIE Sp|4aH|
8,500,0002*627H 2 527,000
—ZIGISHIAIL HHSH DT 242
125,000,00024* 14! 125,000
—ZIBILHRIAL S2IX X2l
1,000,0002* 100 4 100,000
—ZIGIAETRIAIL (DRI RS
570,000, 0002 * 14! 570,000
702 JI2EEZ 534,823 546,858 ~12,035
NBIEEEE 534,823 546,858 12,035
OHDISHIAILZTHZ=0IXRI|2 HE2 534,823
—NXEHHEAS 400,000,000 %14l 400,000
—FEET(2022) MaDI=STHOHHS| 10/100
1,182,347,0002%10/100 118,235
—HEE(2022) HIISH2l2222] 10/100
165,876,0002!%10/100 16,588




